versione 0
Equazioni differenziali — 0

8 x y[x]

DSolve[{y' [x] = + 12 %%, y[0] = 2},

4x%+1
vix], x|

1
{{y[x] > — (4 +6x+16x%+24%3 -3ArcTan[2 x] - 12 szrcTan[Z x})}}
2

Funzioni di due variabili, punticritici — 0

glx_, y_]:=x*-2x"y+2y"-8y;
f[x_, y_] :=9g[x, y]; Expand[f[x, y]]; Print[Expand[£f[x, y]]];
Print[{Together[D[£f[x, y], x]], Together[D[f[x, y], ¥]1}];
Print[Solve[{D[f[x, y], x] == 0, D[f[x, y], y] =0}, {x, y}1];
H[x_, yv_] = {{D[£f[x, y], x, x], D[£f[x, y], x, y1}, {D[£f[x, y], x, y]l, D[f[x, ¥y]l, ¥, Y1}};
H[x, y];
Print [MatrixForm[H[x, y]]1];
Print[{

MatrixForm[H[O, 2]],

MatrixForm[H[-2, 4]],

MatrixForm[H[2, 4]]

1

x4—8y—2x2y+2y2
{4 (x3—xy), -2 (4+x2—2y)}

{{Y%ZI X%O}l {Y%4, X%_Z}I {Y%4IX—>2}}

[12x2—4y —4x)
-4 x 4

{(_08 Z)’ (382 j)’ (fz _48)}
Integrale doppio — 0

X
—2;

(%% +v?)

Assuming[x 20 & x <10 && y < 10 &&y > -10,

\100-y*
I,

fix_,y_] :=

Simplify[{

j J Vioor £x, vl dlxdly}]]
R ! (73\/?+4n)}

- - _1
{200 50 + 2 y? 60

£[x, y] dx,
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X
flx_,y_]:= ——;
(x2+y2)2
-7 b
Assuming[— <ts< —,
3 3

10
Simplify[{J- , rx f[rCos[t], rSin[t]] dr,

Cos[t]

j_ 105 r«f[rcCos[t], rSin[t]]dlrd]t}]]

3 Cos[t]

1 1
— Cos[t] (—1+2Cos[t]),—(—3 3 +47T)
{10 60 \/7 }

Numero complesso — 0

Reduce[(z) "3+8I==20+01I, z]

z::2j|\z::,j,\/?||z::,j+\/?

Matrice, autovalori... -0

1 0o -1
a-= H
-v3 1 o0
b = a.Transpose[a]; MatrixForm[b]
2 -V3
-V3 4

Eigenvalues [b]

{5, 1}

Eigenvectors[b]

%[[1]] %[[2]]
v

V2 —————jvVl=s ———;
Norm[%[[1]]] Norm[%[[2]]]
m = Transpose[{vl, v2}]; MatrixForm[m]

1

2
AN

2

N m‘a

MatrixForm[Transpose[m].b.m]

(o 5]

versione 1

Equazioni differenziali — 1



ch.ind.2014.01.31.nb |3

2xy[x]
DSolve|{y'[xX] == — + 3 x2, y[0] == ,
[{ x2+9 }

vix], x|

1 X
Hy[x] - [72 1243 x+8x2+27%° - 729ArcTan[—
9

3} -81 szrcTan[z}

J)

Funzioni di due variabili, punticritici — 1

glx_, v_] := X4—2xzy+2y2-8y;

1

—g[2y, x]; Expand[f[x, y]]; Print[Expand[£f[x, y]]];
2

flx_,y_]:

Print[{Together[D[f[x, y], x]], Together[D[f[x, y], y]1}];
Print[Solve[{D[£[x, y], x] = 0, D[£[x, y], y] = 0}, {x, y}]];
H[x_, y_]1={{D[f[x, y], x, x], D[f[x, ¥], x, Y1}, {D[£f[x, v], x, y], D[f[x, yl, ¥y, Y]1}};
H[x, y];
Print [MatrixForm[H[x, y]]];
Print[{
MatrixForm[H[2, O0]],
MatrixForm[H[4, -1]],
MatrixForm[H[4, 1]]
}]

~4x+x?-4xy’+8y*

{2 (-2+x-2¥%), -8 (xy-4y®)}

{({x=>2,y-0}, {x->4,y->-1}, {x->4,y->1}}

2 -8y
[—8y %(—16x+192y2)

{(3 —26)' (; 684)' (—28 ;j)}

Integrale doppio — 1

y
—2;
(%% +v?)
Assuming[x 20 && y <4 && x< 4 &&x > -4,

I,

ns= £[x_, y_] =

Simplify[{ f[x, y] dy,

j J e £[x, v dlydlx}]]

1 \/? 7T
out[6]= {— — +

_ VT
32 g.+2x* 8 6}
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Y

= £[x_, y_] := P
(x2 + yz)
7T 5
Assuming[— st —,
6 6

Simplify[{r _ rxf[rCos[t], rSin[t]] dr,

sin[t]

j%f . rf[rCos[t], rSin[t]] dlrdlt}]]

sin[t]

1 \/? Tt

Out[10)= {7Sin[t} (-1+28in[t]), - + 7}
4 8 6

Numero complesso — 1

Reduce[(z) "3-271I=0+01I, 2]

(j*\/?)\\z::g(ju\/?)

Matrice, autovalori... — 1

z=-31i]|]|z-=

N oW

20 -1
a-= ;
00 -v3 )
b = a.Transpose[a]; MatrixForm[b]

5 /3
V33

Eigenvalues[b]

{6, 2}

Eigenvectors[b]

%[[1]] L %[[2]1]
_— vl —————
Norm[%[[1]]] Norm[%[[2]]]

m = Transpose[{vl, v2}]; MatrixForm[m]

v2 =

1 V3
T2 2
V3 1
2 2

MatrixForm[Transpose[m] .b.m]

o o)



